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Example 1:

% 0pp and adjare Never +he hypotenuse !

Find tan S and tan R. Write each answer as a fraction and as a decimal rounded to four places.
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Example 2 :

Find tan B and tan C. Write each answer as a fraction and as a decimal rounded to four places.
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When given an acute angle in a right triangle along with the length of one leg, we can use the tangent

ratio to find the length of a missing leg © * Make Sure 30\" COICUIUTOY 1§ v DEGREE mOdc!

Example 3: Find a leg length s meow‘e'
Find the value of x.
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Example 4 : Find the perimeter and area
Find the perimeter and area of the triangle. Round to the nearest tenth.
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Example 5 : Estimate height using tangent
Find the height h of the lighthouse to the(hearest foot.
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